TUESIDA

1) Solve the following:
Q) 146 -84 = b) 31Z= 1= c) 665181 =

d) 755-79 = c) 821 - 63 = f) 821 — 573 =

e} 1226 — 359 = f} 957 — 528 — 285= g) 663 —-376—49 =
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Jack needs your help to climb the beanstalk and
reach the gold coins. Answer the number
sentences below using column subtraction,
then colour in your answers on the grid, to help

217 |226 |205 |81

; , ; . 562 |385 |957 |386
him find his way safely to the precious treasure.

78 79 394 | 227

80—39= 148 |144 |a72 [119

5 A 561 —417 =

o 5fY) 987 _ 730 = 616 |516 |796 |44

429—-35= 42 32 31 41

606 — 221 =

425—-198 =

832-36=

181 —559 =17 =
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